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ATH ETOHRFE 29 0 16 0 3 0 0 10
s L il 1273 2 0 1 0 0 0 0 1
it 31 0 17 0 3 0 0 11
AT ETORE 14 0 7 0 0 0 0 7
L il i 12H 1 0 1 0 0 0 0 0
t 15 0 8 0 0 0 0 7
ATH ETOHRFE 16 0 9 0 2 0 0 5
Eld E il 1273 2 0 1 0 0 0 0 1
it 18 0 10 0 2 0 0 6
S & it 64 0 35 0 5 0 0 24
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AT ECORE 29 2 0 2 0 2 3 3 0 13 0 4
5 L il 1273 2 0 1 0 0 0 1 0 0 0 0 0
it 31 2 1 2 0 2 4 3 0 13 0 4
AT ECORGF 14 1 2 1 0 0 1 1 0 8 0 0
i I i 1273 1 0 0 0 0 0 0 0 0 1 0 0
at 15 1 2 1 0 0 1 1 0 9 0 0
AT ECORE 16 2 1 0 0 1 1 2 0 8 0
Eln EN il 1273 2 0 0 0 0 0 0 1 0 0 0
it 18 2 1 0 0 1 1 3 0 8 0
H & it 64 5 4 3 0 3 6 7 0 30 0
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